F42@M D EFYYH—KE

3& (U—10)

OFE)—Y 8H24H(D)

8 Al

=15 FEHE (2@m) . aRER (2@)
RiETH/ (2@)

AN S = 5
A 'Er  |7rozvrest| BIRER I FTHET
B AV N E=E53 Ala ZE HEFTET
C Anillo RIKKEN | BHi#E T FTET
D |UA45>F| =Ffn8H TH £ 3 HIETH /
E BIrEB SHB |PL7—I| FE RIETY/
F [v92xvX| BEES R [£oFau—| BIEA SER
G |EBmEETE|RILAZI| BH SRER
H TAAH S HA FF SRER
X158 1\— T TIT 5.,
MEHE, 1A, HHF—L BT E. BE A TITS.
2N ADTILU R —EHY
X 1BHBEDSGEBIRSGICE>TERYEFITOTHERLTESLTTEL,
BZ B wvrFaly—
Cl1fib—F A2+ 8A25H(A) &5 : HEREISIIUFA |[#(EHE TH
B=AL VY T H
: B ZHA
1 () 5
2 ©) 1
0 5 Ji 3 7 1
1 @ 0 1 3 w ® \5 1 4 9
A B o} D E F G H
owwzvris  AE BEHE W TH BEHB trFau— & = HA
6 ® 0 4 ® 2

@ 9:00 @ 9:40 310:20 @11:00 ®11:40 ®12:20 D13:00 @13:40 @14:20 (®15:00

KEHIE, 1 Al

2HEB LRI, B Ad & &¥E,
(2L b—F A2 bOFBEHICOVTIE, HFZF—L FTH : £, 8% H) TITI.)
XKML - 4T LYRY—E12F—Lx4TAYVIIZHF, RIETV /SETTVWET,

1A ERSHABOF—LATREL




F42@M D EFYYH—KE
3& (U—10)

OFEV—Y 8H24H(L)

8 Al

£15  BEHE (2@ . aRER (2@m)

HETY/ (2M@)

R A = 15
A fHRr | Frvzvres| BEER T FTET
B AV N =5 A& =& T EFTET
C | Anillo | RIKKEN | BiigneE T FTET
D (V45> F| =ZMkHE TH T BIET/
E BEfsB =HEB |[VLT7—|  FE HI&ETY/
F (99259 X| EEV R |2>Fau—| BIEA EIER
G |EBmERsE|RILAZIL| B SRR
H | <RH = HEA EF =SRER

9.41553\/\—71'?'—]':)0

MEHIL,

1 A, 2

LEZF—L (RI¥: £,

®F 4B TITS,
2EMSAEDILY R —EHY

X1BEDRGEBIERBICE > TELYFIDOTHERELTEELTTIL,

B B UVFsrovT7
O2fik—F AV 8A25H(A) LB HFEREYF IV KB | FEE IEA
B=fL RILRZJL
UAT5-F B =
1 () 0
1 ©) 1
P K
1 5 5 2-3 3 7 1
0 ] 1 0 5 1 6 10 4 0
A B o} D E F G H
A g Anillo Y#435>F  BIiEB BIfEA HRILRZ)L TRAH
2 ® 3 10 ® 0

@ 9:00 @ 9:40 310:20 @11:00 ®11:40 ®12:20 D13:00 @13:40 @14:20 (®15:00

KEHIE, 1AHl, HZF—L GEHF: E &F - H)



FA20H DT v N—K=E

38 (U—10) 3fi- 4oLy krU-J-=o

=ATE8R258 (B)
1. BREIRBI 8ABIY Y H—THS

2.

RIS 1 59—-59—15%9
53 31D

=[pJ0

3. F ¥ 1AHTEID,
4, RIBER SF—L1BFERDA. 1 BENICESTRENLET,

w gl DERIBETD/JSOYE AD-b AIERBETD IS5V R Bd—k
st ) = ¥ st ) = ¥
1193 | Bwmm 3—0 % B |ZLZ| E F 1—8 voztux| P E
2110010 = o® 1—1 EHEsE | ZLE| N K 1—1 mmEEsE| LLE
3[1050 &€ & 0—1 RKKEN |ZEZ[ £ F 0—4 =588 | 2L %
a3 B g 0—4 ¥ B | ZEZ|vvrFyx 6—0 wHmEEsE| DL L
sl12:10 BeEm 4—1 RKKEN | ZEZ| v A 0—4 =romm | LkZ
61250 B 1 0—2 BEEs/E |DLI|E F 2—0 mHEEsAE| DL
7] 13:30 'Qﬁl 3;;; o_P '; 311;: TEEL L R 0 — 6 yozFux| TEE
R N i e =fomm | DL Z
RIKKEN '3 —38 BXErshH | &6 w¥ B
|49 wymm 1-7 v ow |BE[T v 1—1 & |BE
10[ 15:30 YOZFvZ 4 — 0 =AOEE | BiiE
[-170v2| BEEmR | £ 8 | RKKEN B | B | kR [exz| IBh
SR O 3-0[0 4—1 6 | 7| 1| 6 1
%Z & |@ 0-3 ® 01 0] o0 -4 | 3
RKKEN @ 1 —4[0 1 -0 3 | 2 ~2 2
1-270v0| & & | ¥ B | B2F2r0 B | B | k= [exz| 1B
TR ® 0—4|®@ 0—2 o 6| -6 3
T % o 4-0 A1 —1 5 | 1| 4 1
S£50 [0 2-0|a 1 -1 3| 1| 2 2
170v2 | /A & | Zfomd@ |ooz+vz|sszera] T 5 | B |exz| B
AN @ 0—-4|@0—-6|a1—-1(a1—=1]|2]-10] 5
=F0#B [0 4 -0 @ 0—4|Aa0—-0|0O 4—0| 7| 4 2
PH2Fv [0 6 —0 |0 4—0 O6-0|0 8—1]12] 23 1
SHMEBIE[A 1—1|A 0—-0|@® 0—6 @ o0-2| 2 |-8| 4
F F A1-1|®@0-4|@ 1-8|0 2-0 41 -9 3




F42EMDLEHYH—KE

3FE(U—10)8 Al

T IE #hET

AJOvs fENRRT Iz THF| BHER B = | SR A | IERL
fEN A1 —1 O 6—1 4 5 2
INDzoThF| A 1 — 1 O 11 —0 4 1 1
BHER ® 11— ® 0-—11 0 -16 3

T IE #hET

BJOwy J\K =154 s 7 B s | SR A | IERL
J\R ® 1 —3 ® 0—4 O 4—1 3 -3 3
=L O 3—1 ® 0—2 |O 4—-0 6 4 2
=y O 4—-0 O 2-0 O 7—-0 9 13 1
Z1E ® 1—4 | ® 0—4 | @ 0—7 0| -14 4

I FTET

covsy Anillo RIKKEN B E B s | B A E| IEAL
Anillo O 1—-0 ® 0-3 3 -2 2
RIKKEN ® 0-—1 ® 0-—6 0 -7 3
BREE O 3—0 |O 6—0 6 9 1

HIETH/

D7 OvYy DAISTF =FsHA TH g B m | x| g
UA55oT O 5—-0 ® 0-—5 O 8—0 6 8 2
=f&H ® 0-—5 ® 0-—2 O 4—-0 3 -3 3
TH O 5—-0 O 2-0 O 5—0 9 12 1
Ei ® 0-—38 ® 0—14 ® 0-—5 0 =17 4

HIETH/

EJOvy BInEB =HB JL7—IL D0y ;3 B m | Bk A | IERL
BIrEB ® 0-—3 O 5—0 O 3-—1 6 4 2
=HB O 3-—-0 O 5—-0 O 5—2 9 11 1
L7—IL ® 0—-5 | @® 0-—5 ® 0-—5 0| -15 4
R ® 1 —3 ® 2-5 O 5—-0 3 0 3

=IER

FJOws HHXEXyX BExXvE toFal)— BIREA B | SRRE|BAL
HHREyX O 8—-0 ® 0-—3 ® 0—4 3 1 3
BEXrRE ® 0-—38 ® 0—4 |@®@ 0-—5 0| -17 4
toFal)— O 3—-0 O 4-0 O 2-—1 9 8 1
BIEA O 4-—-0 O 5—0 ® 1 —2 6 8 2

SRER

Gc7avy EHEBrE RILRZ)L =Xl B | Bk A 2| IERL
S ERS R ® 0—14 ® 0-—6 0 -10 3
w_r=Z)L | O 4—-0 A 2—2 4 4 2
il O 6—0 A 2 —2 4 6 1

SRER

H7Ows TR =S HA FF e | /R RE|EAL
TAAH ® 0—10|O 6—3 3 =7 2
S HA O 10—0 O 5—-0 6 15 1
T3 ® 3-—6 ® 0-—5 0 -8 3




